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xaminer

(iv) Suggest how the development of Salford Quays may have brought benefits -
and challenges to this part of Manchester. Use evidence from the map and
photograph. 4

The . M/vawj dﬁ

B2 Some application/inference with limited number of benefits and challenges.
Lacking detail.
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B3 Good inferences using map and photo. Range of challenges and benefits.
Balanced.
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(iv) Suggest how the development of Salford Quays may have brought benefits
and challenges to this part of Manchester. Use evidence from the map and
photograph. [6]
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2. (c) (ii) The growth of global cities can have positive and negative >
impacts on the way of life of people who live in them. Explain why. - | S| _
o . . . AEN I 5 5
The accuracy of your writing will be assessed in your answer to this 515 8 8 3|
question. |l << | < | <| <| =
6 3| 11

Use the descriptors below, working upwards from the lowest

band.

Band Marks

Descriptor

Good understanding of a range of
relationships between people and cities
becoming global. Connections or chains
of reasoning give clear explanation.
Balance between positive and negative
impacts.

Meaning is clear. The response has
purpose, is organised and well
structured.

Some understanding of impact of urban
growth on people but lacking in depth
and/or detail and/or balance between
positive and negative. Some but limited
connections made between factors and
descriptive points may not be fully
backed with evidence or explanation.
Meaning is generally clear. The
response is structured.

Simple statements show basic
understanding of human impact of global
city growth. Tendency to description with
limited explanation.

Meaning may lack clarity in parts.
Statements are linked by a basic
structure.

Award 0 marks if the answer is incorrect
or wholly irrelevant.

Candidates should demonstrate
their understanding of the impact of
global city growth on the lives of
their residents.

The focus should be on explanation
of the reasons for impacts rather
than description of the impacts
themselves and good explanation
and the development of chains of
reasoning should give access to the
higher bands.

There also needs to be balanced
treatment of positive and negative
impacts. For example, candidates
might refer to the concentration of
business and commerce providing
jobs, wealth and greater
opportunities to residents and in-
migrants due to the greater
connections with other global cities
and the regions they support but
that these opportunities are likely to
be greater in MEDC global cities. A
negative impact of this in LEDCs
could be the lack of capacity to
absorb the number of migrants in
search of this wealth which in turn
leads to development of an informal
economy as well as greater
unemployment, poverty, and lack of
access to services such as housing.

There is a wide range of
approaches that candidates could
take and as such there are
numerous ways in which they could
access higher marks and you
should be guided by the quality of
explanation and extent of balance in
the answer. Remember that full
marks does not require a perfect
response.

After awarding a level and mark for the geographical response, apply the performance
descriptors for writing accurately that follow. Having decided on a band, award a second mark

(out of 3).

© WJEC CBAC Ltd.
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In applying these indicators, learners may only receive marks for responses that are in the
context of the demands of the question; that is, where learners have made a genuine attempt to
answer the question.

Band

Marks

Performance descriptions

High

Learners spell and punctuate with consistent accuracy
Learners use rules of grammar with effective control of meaning
overall

Learners use a wide range of specialist terms as appropriate

Intermediate

Learners spell and punctuate with considerable accuracy
Learners use rules of grammar with general control of meaning
overall

Learners use a good range of specialist terms as appropriate

Threshold

Learners spell and punctuate with reasonable accuracy

Learners use rules of grammar with some control of meaning and
any errors do not significantly hinder meaning overall

Learners use a limited range of specialist terms as appropriate

The learner writes nothing

The learner’s response does not relate to the question. The learner’s
achievement in SPaG does not reach the threshold performance level,
for example errors in spelling, punctuation and grammar severely
hinder meaning

End of Question 2

© WJEC CBAC Ltd.
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B3 Good U/S of range of positive and negative impacts
Some use of chains of reasoning to give clear explanation.

AAC - 3 specialist terms/no spelling errors/rules of grammar clearly followed.
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Chof R

B3 Good u/s with chains of reasoning providing clear explanation. Connections made.
Balanced between P and N.

AAC - good spelling/grammar/terms
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(i)  The growth of global cities can have positive and negative impacts on the way of
life of people who live in them. Explain why. [6]

The accuracy of your writing will be assessed in your answer to this question. [3]
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Additional space for Question 2(c)(ii) only: o

End of Question 2
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3. (a) (iii) Explain why rift valleys can form at divergent plate
boundaries. You may use a diagram to help your answer.

AO11

AO2
AO3

Accuracy

& 1A01.2

& Total
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Use the descriptors below, working upwards from

the lowest band.

Band | Marks

Descriptor

2 3-4

More sophisticated
understanding with
explanation clear and
communicated well.

Simple statements
communicated in a basic way
with limited understanding
between points.

Award 0 marks if the answer
is incorrect or wholly
irrelevant.

Candidates need to show that they
understand the effect of diverging plates in
the rifting and pulling apart of crustal rocks to
create a rift valley. The tension created as
plates pull the crust apart leads to vertical
faults developing and between which the
rocks can collapse/drop downwards to form a
valley.

For band 2, look for understanding of
collapse/sinking of middle section
between rifting plates.

Although invited to use a diagram, this is not
a requirement and candidates should be able
to access band 2 with prose, diagram, or
combination of both.

© WJEC CBAC Ltd.
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(i)

Explain why rift valleys can form at divergent plate boundaries. You may use a
diagram to help your answer. [4]
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3. (b) (iv) People who live in wealthier countries like Japan are less

vulnerable to earthquakes than other communities who live in tectonic

zones. )

To what extent do you agree with this statement? Use evidence fromthe | — | | _

Resource Box and the Earthquake Hazard Risk Map to help your |- |N| o 3 8

answer. You may also use other examples you have studied. <O( <O( <O( <O( R
8 8

Use the descriptors below, working upwards from the lowest

band.

Band

Marks

Descriptor

Balanced analysis and sophisticated
judgement using chains of reasoning. A
range of detailed and elaborated points
are made both for and against the
statement. Information in the resources
and any implications are interpreted and
analysed thoroughly and perceptively.
Conclusion is justified.

Meaning is unambiguous. The response
has clear purpose, is fluent and logically
structured.

5-6

Elaborated analysis and reasoned
judgement using chains of reasoning.
Some imbalance in the discussion.
Information in the resources is interpreted
carefully and used to good effect to
support the argument. A reasoned and
valid conclusion.

Meaning is clear. The response has
purpose, is organised and well structured.

Valid but limited analysis and simple
judgement. Valid points are made on one
or both sides of the argument but are
superficial. A few points are elaborated but
lacking in sophistication. There is valid but
limited interpretation of information in the
resource. Conclusion is made but is
simplistic and with limited justification.
Meaning is generally clear. The response
is structured.

1-2

Basic analysis. Valid but basic and
simplistic points made with little or no
elaboration. Basic conclusion is made but
no justification.

Meaning may lack clarity in parts.
Statements are linked by a basic structure.

Award 0 marks if the answer is incorrect or
wholly irrelevant.

Candidates are asked to consider the
relative vulnerability of communities in
different tectonic zones including, but
not limited to, countries at different
levels of economic development.
More wealthy countries are likely to
have a higher level of mitigation and
protection measures in place and
most candidates should be able to
argue this point with reference to the
technology available in countries like
Japan and the problems faced in
poorer communities where there may
be a lower standard of building
construction and less availability or
affordability of technology. The
resources also point to a potential
discussion of the impact of human
losses v financial losses between rich
and poor countries. However, they
may also allude to the incidence of
major disasters which have occurred
even in the wealthiest countries and
where the magnitude of individual
events can exceed to capacity of
measures designed to protect people.
They may also consider the differing
nature of plate boundaries and
suggest that divergent zones can be
less prone to major earthquakes than
convergent zones.

At the top bands there should be
some attempt to conclude the answer
although a conclusion that increased
vulnerability results from no single
factor but a combination of factors
which operate together is valid if well
justified. Although there is a
requirement to use the resource,
credit candidates who go beyond the
resource and add depth to their
answer by using their own knowledge
and understanding to develop their
points.

End of Question 3

© WJEC CBAC Ltd.
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B2 Elaborated analysis making use of resources but limited to one side of argument.

Total for Qu3 = 17/24
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B3 Elaborated analysis but imbalanced - limited consideration of alternative view.

Total for Qu 3 = 16/24
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Examiner

|
(iv) Study the Resource Box below. o

Information on Japan

Earthquake-Resistant Building Technology Earthquake Emergency Drill in Japan

Fact File

e Japan is one of the wealthiest
countries in the world with GDP per
capita $40000.

*  The Japanese government has spent
$1 billion to build its seismic alert
system that can detect the peak of
an earthquake 80 seconds before it
arrives.

* |n Japan the most seismically active
areas are also the most densely
populated areas.

* |tis estimated that earthquake
damage costs the Japanese economy
an average $20 billion per year.

People who live in wealthier countries like Japan are less vulnerable to earthquakes
than other communities who live in tectonic zones.

To what extent do you agree with this statement? Use evidence from the Resource Box
and the Earthquake Hazard Risk Map to help your answer. You may also use other
examples you have studied. [8]

22
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End of Question 3
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4. (a) (iii) Explain why some people believe that managed retreat
should be used along rapidly eroding coastlines.

AO1.1

AO2
AO3

Accuracy

& 1A01.2

& |Total
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Use the descriptors below, working upwards from

the lowest band.

Band | Marks

Descriptor

2 3-4

More sophisticated
understanding with detailed
explanation, clear and
communicated well.

Simple statements
communicated in a basic way
with limited understanding
between points or lacking
detailed explanation.

Award 0 marks if the answer is
incorrect or wholly irrelevant.

Candidates need to demonstrate their
understanding of why managed retreat
might be used. As erosion continues and is
likely to become worse as climate change
takes place it could be decided to give the
coastline up to the rising sea levels rather
than wasting resources on unsustainable
technologies to hold the line. Some
candidates may pick up on the ‘some
people’ and identify that these are likely to
be planners/councils whose views may be
at odds with residents.

As a guide, look for understanding of cost-
benefit of holding the line as rationale for
managed retreat for band 2.

© WJEC CBAC Ltd.
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B2 More sophisticated showing good u/s of cost-benefit.
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(i)

Explain why some people believe that managed retreat should be used along
rapidly eroding coastlines. [4]
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4 (b)(iv) SIDS like Tuvalu are more vulnerable than other coastal
communities to the effect of rising sea levels.

To what extent do you agree with this statement? Use evidence from the
Resource Box and the Map of Environmental Refugees above to help

your answer. You may use other examples you have studied.

AO1.1
AO1.2
AO2
AO3
Accuracy

o | Total

8

Use the descriptors below, working upwards from the lowest
band.

Band | Marks | Descriptor

Balanced analysis and sophisticated
judgement using chains of reasoning. A
range of detailed and elaborated points are
made both for and against the statement.
Information in the resources and any

4 7-8 implications are interpreted and analysed
thoroughly and perceptively. Conclusion is
justified.

Meaning is unambiguous. The response has
clear purpose, is fluent and logically
structured.

Elaborated analysis and reasoned
judgement using chains of reasoning. Some
imbalance in the discussion. Information in
the resources is interpreted carefully and
used to good effect to support the argument.
A reasoned and valid conclusion.

Meaning is clear. The response has
purpose, is organised and well structured.

Valid but limited analysis and simple
judgement. Valid points are made on one or
both sides of the argument but are
superficial. A few points are elaborated but
lacking in sophistication. There is valid but
limited interpretation of information in the
resource. Conclusion is made but is
simplistic and with limited justification.
Meaning is generally clear. The response is
structured.

Basic analysis. Valid but basic and simplistic
points made with little or no elaboration.

1 1-2 Basic conclusion is made but no justification.
Meaning may lack clarity in parts.
Statements are linked by a basic structure.

Award 0 marks if the answer is incorrect or
wholly irrelevant.

Candidates are asked to consider
the relative vulnerability of
communities in different coastal
areas including, but not limited to
countries at different levels of
economic development. SIDS like
Tuvalu are often LICs with reliance
on the sea for their livelihoods.
They are also disadvantaged by
geography in that they are small
and low lying which makes them
vulnerable. They are less likely to
be able to implement protection or
mitigation measures than more
wealthy coastal countries/
communities which may be more
able to hold the line. However, this
could be countered by the fact that
populations are relatively low and
that people living in some more
densely populated coastal areas
are more vulnerable. A further
argument could be that all coastal
environments are under threat as
sea levels rise due to climate
change.

At the top bands there should be
some attempt to conclude the
answer although a conclusion that
increased vulnerability results from
no single factor but a combination
of factors which operate together
is valid if well justified. Although
there is a requirement to consider
the resource, credit candidates
who go beyond the resource and
add depth to their answer by using
their own knowledge and
understanding to develop their
points.

End of Question 4

3110U10-1 WJEC GCSE Geography — Unit 1 MS S23/CB
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B4 Chains of reasoning evident.
Range of detailed and elaborated
points but slightly lacking balance.




















B2 Valid but limited analysis based on resources. No consideration of alternative view.
Lacking sophistication.






















(iv) Study the Resource Box below.

Information about Tuvalu

Fact File

Tuvalu is a Small Island Developing State
(SIDS). It comprises 9 small, sparsely
populated islands with palm-fringed
beaches.

The islands are the lowest lying of all
SIDS. The highest point above sea level is
4.6m.

Its population of 11500 mostly live by
farming and fishing.

GDP per capita is $4 059 (UK $43500).
Climate change is causing sea levels to
rise, threatening the islanders’ way of life.
Salt water is flooding the shores and killing
coconut palms. Many large parcels of land
used for palm plantations are no longer

of any value, greatly affecting the local
economy.

In the past floods occurred twice a year.
Now it is every month. One of the smallest
islands disappeared in 1997.

27

© WJEC CBAC Ltd. (3110U10-1)

Turn over.






28

SIDS like Tuvalu are more vulnerable than other coastal communities to the effect of
rising sea levels.

To what extent do you agree with this statement? Use evidence from the Resource Box

and the Map of Environmental Refugees above to help your answer. You may use
other examples you have studied. [8]
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Additional space for question 4(b)(iv) only:

End of Question 4

END OF PAPER
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(iv) Sugg;st haw geology has made the Pembrokeshire Coast landscape distinctive.
Use map evidence. [3]
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1. (a) (iv) Suggest how geology has made the Pembrokeshire Coast

landscape distinctive. Use map evidence.

Accuracy

AO11
AO1.2
AO2
AQO3

w | Total

3

Use the descriptors below, working upwards from
the lowest band.

Band

Marks

Descriptor

2-3

Detailed statements
demonstrate the application
of knowledge and
understanding

in order to draw accurate
inferences from the map.
The description is enhanced
by the effective use of map
evidence.

Simple statements show only
a limited ability to interpret
the map. The use of map
evidence, within the
response, is weak.

Award 0 marks if the answer
is incorrect or wholly
irrelevant.

Candidates are asked to apply their
knowledge and understanding of coastal
landforms to the pattern of rocks shown by
the map. The coastline is distinctive due to
its headlands and bays with bays generally
found in the less resistant sedimentary rocks
and the headlands in the more resistant
igneous rocks. The islands correspond to
the headlands, also in more resistant
geology. The large bay, the largest inlet is
almost entirely in the weaker less resistant
sedimentary rocks. The inlet at Milford
Haven is associated with a single rock type.

Some candidates may refer to the
discordant nature of the coastline also to the
rock lay-out and those who do should lead
you towards the top band. Evidence from
the map in the form of named rock types,
places or directions must be used for band 2
or full marks once in band 2.

The MS is not looking for all of these points
for full marks, just an ability to apply their
knowledge of coastal landforms to the
geology of this area.
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B2 Some map inference. Lacking detalil.
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B2 Recognition of discordant coastline with bays and headlands.
Lacking detail relating these features to rock type. No map evidence.
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B2 Recognition of discordant coastline with bays and headlands.
Lacking detail relating these features to rock type. No map evidence.
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{iv) Sugg;st h;:w geology has made the Pembrokeshire Coast landscape distinctive.
Use map evidence. (3]
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(iv)

Suggest how geology has made the Pembrokeshire Coast landscape distinctive.

Use map evidence.

[3]
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1 (b) (ii) Explain why stacks form when coastal processes and
geology interact. You may use a diagram to help your answer.

AO1.1
AO1.2
AO2
AO3
Accuracy

o |Total

»

Use the descriptors below, working upwards from

the lowest band.

Band | Marks

Descriptor

Good understanding of
relationship between
coastal processes and
geology. Explanation is
detailed and connections
clearly elaborated with
chains of reasoning.

Meaning is clear. The
response has purpose, is
organised and well
structured.

Some understanding of
relationship between
process and geology.
Response contains some
elaboration but lacking
detailed or is
partial/imbalanced.

Meaning is generally clear.
The response is structured.

Simple statements show
limited or basic
understanding.

Meaning may lack clarity in
parts. Statements are
linked by a basic structure.

Award 0 marks if the
answer is incorrect or

wholly irrelevant.

Candidates should demonstrate their
understanding of the relationship between
coastal processes and geology to create a
stack. Although they are invited to include a
diagram, this is not a requirement and they
should be able to achieve full marks with
good explanation whether in the form of
prose, diagram, or a combination of the two.
You must be guided by the level of
understanding and quality of explanation,
not description.

An arch may start from a fault, joint or line of
weakness in the side of a headland, often in
a more resistant rock type such limestone.
Weaker rocks will tend to be less steep and
less consolidated which means they
collapse more easily before the landform
has a chance to develop. The line of
weakness is attacked by destructive waves
directed to the sides of the headland by
refraction over a time through processes of
hydraulic pressure and abrasion to create a
cave. The cave will deepen or meet another
on the opposite side of the headland and
break through to leave the arch. Weathering
and further destructive wave action will
attack the side and roof of the arch leading
to its eventual collapse leaving a stack.

Look for good explanation of the relationship
between geology and the erosion and,
possibly weathering processes which should
be described in some detail at the top band.
Credit the use of chains of reasoning at the
top band.

Many candidates are likely to use a diagram
as this is the traditional way in which this is
taught but do not award or deduct marks for
the quality of the diagram.
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Detailed. Link between process and geology
clearly made

B3 Good understanding of relationship.
Detailed explanation. Connections made.
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B3 Good understanding of relationship.
Detailed explanation. Connections made.










B2 Largely descriptive in terms of stack formation but does make link
between process and geology
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B2 Largely descriptive in terms of stack formation but does make link 
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Examiner
|
(i) Explain why stacks form when coastal processes and geology interact. You may o

use a diagram to help your answer. [6]

3110U101
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1 (c) (iii) Evaluate hard engineering as a method of preventing river >
floods. You may use the resource and/or refer to other examples you - | « © _
have studied. 515818 8
< | < <<| <] =
6 6

Use the descriptors below, working upwards from the

lowest band.

Band | Marks

Descriptor

Good evaluation of strategies
showing clear ability to evaluate
and present evidence to justify
points made. Answer
acknowledges advantages and
disadvantages of specific
strategy(ies) or can give
reasoned evaluation of hard
engineering in general as
opposed to alternatives including
soft engineering or doing
nothing.

Meaning is clear. Response has
purpose, is organised and well
structured.

Some evaluation of one or more
strategies but may lack evidence
and/or detail. Imbalanced
between advantages and
disadvantages of one strategy or
of hard engineering in general.

Meaning is generally clear. The
response is structured.

Valid statements lack
depth/breadth and with only
limited evaluation.

Meaning may lack clarity in
parts. Statements are linked by a
basic structure.

Award 0 marks if the answer is
incorrect or wholly irrelevant.

Candidates should apply their
knowledge and understanding of hard
engineering strategies designed to
protect people in flood-prone areas.

They could solely consider the strategy
outlined in the resource, but this is not
necessary and they may consider other
strategies that go beyond the resources
such as channelisation or revetments.

They must consider potential
advantages and disadvantages of the
strategies. Alternatively, they could
focus on the overall concept of hard
engineering and use a range of different
examples to illustrate points being made
without going into detail on any strategy.

There are alternative arguments
presented in the resource such as the
quantifiable effectiveness in actually
preventing floods and protecting people
balanced against the high cost of such
schemes. Some may consider the
environmental implications of schemes,
but this is countered in the example
used. Good candidates may question
the sustainability of hard engineering in
the face of continued climate change
and the potential unintended
consequences of shifting the problem
elsewhere.

Ensure that credit is given for the quality
of evaluation rather than knowledge and
understanding of the strategies
themselves although this will provide
context.

End of Question 1
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See back for additional detail B3 Good evaluation. Range of
strategies discussed. advantages and
disadvantages of each discussed with
evaluation against soft engineering.
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B3 Good evaluation. Range of 
strategies discussed. advantages and disadvantages of each discussed with
evaluation against soft engineering.
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B2 Some evaluation but lacking detail. Relevant points made
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(iii)  Study the resource below.

Morpeth Flood Protection Scheme, North-East England, an example of Hard Engineering

i The scheme opened in August 2015,

at a cost of £26m. It includes one of

the largest flood storage reservoirs the
Environment Agency has ever built and
reduces the risk of flooding to 1000

& homes and businesses in the area. The
S upstream dam and storage area work by
storing up to 1.4 million cubic metres of
water when river levels are high. There
is now a 0.7% chance of river flooding in
Morpeth each year. The scheme
created 17 hectares of new habitat for
local wildlife.

Evaluate hard engineering as a method of preventing river floods. You may use
the resource and/or refer to other examples you have studied. [6]
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Examiner
Additional space for Question 1(c)(iii) only: on

End of Question 1
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2. (a) (iv) Suggest how the development of Salford Quays may have
brought benefits and challenges for this part of Manchester. Use

evidence from the map and photograph.

Accuracy

AO11
AO1.2
AO2
AQO3

o |Total

6

Use the descriptors below, working upwards from the
lowest band.

Band

Marks

Descriptor

5-6

Good application of
knowledge and understanding
which relates to the area in
the map and photo and uses
clear map/photo evidence to
make inferences. Answer has
balance between benefits and
challenges.

Meaning is clear. Response
has purpose, is organised and
well structured.

Shows some ability to apply
knowledge and understanding
of regeneration issues which
broadly refers to the area of
the map and photo. Some
imbalance in focus between
challenges and benefits.
Some but limited use made of
map/photo information to
support points.

Meaning is generally clear.
The response is structured.

1-2

Simple statements with only
cursory reference to the map
area.

Meaning may lack clarity in
parts. Statements are linked
by a basic structure.

Award 0 marks if the answer
is incorrect or wholly
irrelevant.

Candidates are required to analyse the
map and photograph and draw
inferences from them to which they
should apply their knowledge and
understanding of urban
renewal/regeneration.

They must relate it to evidence from the
resources, but they could draw on
learning they may have from other case
studies such as Cardiff Docks and this
should receive credit if it emphasises or
adds context to points made from the
resource.

The area has developed from a former
dockland/industrial landscape which
may have gone into decline and been
replaced with modern, attractive
buildings and a range of residential,
commercial and leisure activities.

Look for comment on the shape and
design of the modern buildings in the
photo. It may have created employment
opportunities for local people and led to
in-migration to make communities more
vibrant and economically viable.
Tourism may have also been attracted
to the area. Old housing and
industrial/docks/ warehouses have been
replaced by more modern designs.

Transport links have been improved
with development of roads and bridges
which were not there in 1980. Some
candidates may relate the area to
Egan’s Wheel and the creation of
sustainable urban communities.

Challenges may relate to disturbance
during construction, gentrification and
the alienation or exclusion of traditional
industrial communities who are unable
to afford the new housing or cannot find
work in the new economy.

© WJEC CBAC Ltd.
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of a range of challenges and benefits
both inferred and evidenced from map/
photo.
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B3 Detailed and balanced consideration
of a range of challenges and benefits
both inferred and evidenced from map/
photo. 
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